Homwrk G

Section 2.6

4) A furniture store expects Yo sell ©UD sofas at a steady rate next year. The manager of the
store plans to order these sofas from the manufacturer by placing several orders of
e same size spaced equally throughout  +he year. Thne ordering Cost for each
delivery Is 8100, and carrying costs, based on awerage number o soras in inventory , Gmount
To 332 peryear for one sofa.

Q) Let x be the order quantity and r he number of orders placed during the year. Find

the inventory cost interms of x and r.

b) Find the constraint fonction.

©) Determine the economic order quantity that minimizes the inventory cost, and +hen

find ¥he minimom inventory cost

o) Inventory cost = L=160r + 32(¥/2) = 160r +1 X N
b) Xr=040

S Xr=eD= =010 oy 1 10)=100 (&2 )+ 16 ¢ =12A00+ |4y
1'(0:"0)2(#+|e,

0= 1240 11 =5 12400 =1 =5 102400=16X™ = ™= (YOO =) X= 8O
Check Hat this1s a min: I'—= e‘o+

minimuym when

L (80>=102400 ¢, (36) = 1280+ 1250 =[82560]

5) A california distributor of sporting equipment expects 1o Ssell 10,000 cases of tennis
balls doring the coming year at a steady rate. Yearly carrying cost (o be computed on
the average number of cases in stock during the year) ar 310 per case,and +he cost of
placing an order with the manufacturer 15 3%0.

ileind e inventory Cost incurred 1 the distributor orders 500 cases ata Hime during

e year.
b) Determine the enomic order quantity,that is, the order quonﬁfy Hhat minimjzes the
invem‘ory Cest.

0) \nventory _ — _ XA = p 4
oY =T=80r+10(5) = 8Dr+5x
X=B00 =2 = 10,000 - 5
500

T = 30(20) +5(500)= 16 00+260D =

® 1=30r+6X, Xr=10,000=> r=10:000

I(xs: 80(&%}+5X = NLO;(OLO.}SX = 1l(x): -80(;‘2000 +5
=> 5X*= 800,000 => X*=160,000 => X=400

_-800,000 . . _. .. 300,000
0= 20002 4 g =y 5= 22

I'——+ 1 [x=yop cases|  Cclasswork graded: CcwQ #2




